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QUESTION 1

During a VxRail deployment validation check it is discovered that the Top of Rack (ToR) switches have Spanning Tree
Protocol enabled. What should be done before the implementation can proceed? 

A. Confirm that ToR switchports connected to VxRail nodes are configured to get into "forwarding" mode quickly. 

B. Confirm that ToR switch ports connected to VxRail nodes have fabric-trunk enabled. 

C. Disable STP on the ToR switches 

D. Confirm that isolated VLANs exist on the ToRswitches for each of the VxRail networks. 

Correct Answer: A 

 

QUESTION 2

A company wants to deploy VxRail on V Series nodes as a proof-of-concept (POC). Only one Top of Rack (ToR) switch
has been provided for the POC. What is the Dell EMC best practice recommendation in this situation? 

A. Connect the first host NIC to the ToR switch. Leave the second host NIC un-cabled. 

B. Connect each host NIC to a port on a different switch packet buffer bank on the ToR switch. Balance the ports across
two packet buffer banks. 

C. Inform the company that the POC cannot proceed without a second ToR switch. 

D. Connect the first host NIC to the TOR switch. Daisy chain the second NIC between hosts. 

Correct Answer: B 

 

QUESTION 3

A company is planning to deploy VxRail for business critical applications. The solution should support 

automated workload re-balancing. 

Which vSphere license is required for this solution? 

A. vSphere with Operations Management Enterprise 

B. vSphere Enterprise Plus 

C. vSphere Enterprise 

D. vSphere Standard 

Correct Answer: B 
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QUESTION 4

Which requirement is optional for a VxRail Stretched Cluster? 

A. Enterprise Plus vSphere Licensing 

B. External vCenter 

C. IPv6 Multicast between locations 

D. Cross-site layer-2 connectivity 

Correct Answer: C 

 

QUESTION 5

Based on the exhibit, what is the correct IP address to use when resetting a G Series node with the reset script? 

A. 169.254.234.124 

B. 192.168.20.35 

C. 192.168.30.35 

D. 192.168.80.35 

Correct Answer: A 
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